Efficiency vs dr

x 0.0

.......

=)
L LR § LA

[ —=s—="DQM_V0001_R000000001__Global__cmsswi000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO

l-» 20

=
S
w

107 107 o1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

Ratio

q-

0.8

0.6F

1073 1072

-1

1
AR(TP, jét)

Efficiency vs pu

5 0.0
o
9.009
3.008
(]
©®.007
=
%.006
0.005
0.004
0.003
0.002
0.001

10

=
T

I
N
o

—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO



	Contents
	Page 1


